Worksheet 4

Dividing by 6
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@) Ruby has 30 beods
She uses 5 beads to make a ring
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Ruby makes

rings

(b) A5 sweets are divided among 5 puplls.
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Each pupll gets swoets.
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marbles in each bottle,

ries put them equally in § bottles,
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(d) Thereare 15 pupils, Mtoodwrmtsthantoﬂondmwupsols.
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There are

groups of 5.
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()  Holly buys 25 apples. She puts them in bags of 5. '
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Holly has bags of apples.




I bought 56 apples from the grocers shop.

Find as many ways as you can to divide them into equal
groups.




